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In Exercises 1-6, match the inequality with its graph.
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In Exercises 7-18, solve the inequality. Then graph the solution.
3n +1< 10 -2z S e e S S S-S w—
@3+l ©sa 228 S 6 1 5 5 4
n < a 2 |0
R S i L ER R m s
=l =8 =2 =
Tn <3|
€Pay T7<3 € 9k — 2 > -20 QP e}
6 — B vz *2 43 D] Q- 1 2G4
g5 & =4 Kk > -18.
. oo T Ot
- o
X d
XF15 < 16 4 8> -10 P S ' i 5
D5 S o 3 em +3 0‘_:4 39210 1 2 3 4
/7-X—- > 5\/34\} C{ f”\
Tz 2] (375 2 72Y @<ttt o————t>
@ EGL%’T_-("—‘B\ -4 -3-2-1 01 2 3 4
@*—"—43“4— @6P—1<3 < ! 1 ! ! 1 ! ey
g vis e O
V= < Ola) Lp <13
O (g < 0N, N $ @ —+————
1@;@ -4 -3-2-101 2 3 4
DT PELL YTty
= d —F O —4 —
g 15%5b N
5 > m - = ety >
3¢hH °a‘- 3<"J5>‘3®—8—6-4—202468
62> % -7 5< M 45
®-7 = &1 @-s & =3 © et
Y‘ Y ?( 6 m() -8 -6-4-2 0 2 4 6 8
e Bl L )OO <L \z
/('5\ -b(q. sl 'Z or D e e B S N S e e
oS % oRXﬁS o<mr‘m;o§ -8-6-4-20 2 4 6 8
( 15| 6 ‘t. 1349 11813 11111415 §#8 |17|10| 2 [16] 7 | 4 |12
G |O O3 le lcliinigftir|a|i|n]i|n|g
\
PUNCHLINE = Bridge to Algebra The Pythagorean Theorem and Inequalities:
©2001, 2002 Marcy Mathworks e {18 e

What ls The First Thing You Should Do To Become a Mattress

er?

For each exercise, write the letter of the answer in the box containing the number of the exercise.

Sclving Inequalities
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